Y A | URE | vk |wanzsore| FTRETR) AR AR RS
104222510908693 |7k /& 100208 |l bR A B 4 17 FExEm| 359 [87.57 | 78.11 =
104222510908680  |#1 74 A+ 100208 |l R A B2 4 T FEEE| 360 |83.29 | 76.52 =
104222510105794 |4 % fi8 100214 | 311 [59.90 | 61.28 %
104222510905929 |2 4ETW 105101 (A A= % 395 FEEE| 344 [79.64 | 73.14 =
104222510104145 |73 | 105101 |H M= % 497 FExEE| 332 [75.64 | 70.10 =
104222510905276  |& % 105101 (A A= % 395 FEmmE| 337 [73.86 | 69.98 =
104222510905707 | E &4 | 105101 |A A= 3 357 |67.17 |69.71 7
104222510905155 2= /%% 105101 (A A= % 395 341 [63.07 | 66.15 &
104222510905622 |k —#. | 105101 |W A= % 497 337 |62.19 | 65.32 &
104222510905282 | & il & 105101 (A A% % 357 336 |62.31 | 65.25 &
104222510905972 | ¥ BA 2% 105101 [P AH# % 497 326 |62.62 | 64.17 %
104222510905552 [k 4r 2 105101 (A A= R R FEEmE| 366 |87.27 | 78.83 =
104222510905540 | #4 4k C 105101 [P AH# S/ &Y FEEmE| 358 [88.18 | 78.23 =
104222510905728 | &7 105101 (A A= SRR 382 |66.27 | 72.35 &
104222510905878 | E 4 E 105101 [P A= &3 372 |66.37 | 71.19 7
104222510905185 | & /Nl 105101 (A A= R R 354 |64.18 | 68.15 &
104222510104146  |& & & 105101 [P E &3 353 | 54.33 | 64.09 7
104222510905369 | & B4 105101 (A A= mauks®EE [JEEE| 374 [93.04 | 82.09 =z
104222510905158 | & f# i 105101 | AH= waw s RiEE [dEEE| 359 | 91.19 | 79.56 =
104222510905762 | & ZE 4k 105101 [ A= WAt s ®RiaE [dEEE| 360 | 90.00 | 79.20 =
104222510905557  [FFEMX | 105101 |A A mauk s RuE | dEE E | 347 |89.32 | 77.37 =
104222510104079  |&F W ik 100201 [P A= maw s RuEE [dEE E | 335 |90.29 | 76.32 =
104222510104068 |7 & 105101 | WA W40 5 R 360 |77.42 | 74.17 &
104222510905320 |E =% 105101 |A## W 4ok 5 R e 349 | 75.65 | 72.14 &
104222510905130 | & 884t 105101 | AH= WA Bt R R 330 |79.08 | 71.23 &
104222510905108 | & 3 105101 [ A% WA Bt R 338 | 72.28 | 69.47 &
104222510905772 |3k & & 105101 [P RG] FEEmE| 397 [91.65 | 84.30 =
104222510104129 | TEH& | 105101 |A A RG] ExEm| 378 [86.95 | 80. 14 =
104222510905151  |# &R & 105101 [P AH# RG] FEEmE| 355 [93.38 | 79.95 =
104222510905181 | 105101 (A A= R 360 |73.44 | 72.57 &
104222510905112  |BFE# | 105101 |A A= RG] 361 |72.66 | 72.38 &
104222510905898 | JA = #& 105101 (A A= RG] 358 |72.53 | 71.97 &
104222510905126  |FFE | 105101 |HHF RG] 358 |70.37 | 71.11 %

£10, H4




FEHS | #E | FURE | twak |wrsnzsan|TRF| TR AR KR RES
104222510905449 | F# 105101 | WA MW RE FEEmE| 385 [89.29 | 81.92 =
104222510905879 [ FE | 105101 |AA# B RIE ExEE| 392 [83.17 | 80.31 &=
104222510104080  |*| 3 3 105101 | WA MW RE 333 |81.14 | 72.42 %
104222510905836 | ) X # 105101 | A% B RE 329 |70.98 | 67.87 &
104222510905732 | %% X i 105101 | WAt B RE 342 | 61.27 | 65.55 7
104222510905414 | = 105101 | A% G 1 B R EEE| 365 [89.03 | 79.41 =
104222510905868 | i & 100201 | A% & 1 B R ExEmE| 381 [83.17 | 78.99 =
104222510905447  |FRf: 2 105101 | WAt & 1 330 [79.09 | 71.23 7
104222510104096 |5 FH 105101 | A% G 1 B R 342 | 75.41 | 71.20 &
104222510905561 | %8 L 105102 |JLFH= FExEm| 355 [71.84 | 71.34 =
104222510905776  |& A4 105102 | JLF# FEEmE| 347 [65.41 | 67.80 =
104222510104154  |[x| & 105102 [JLFH# FEEmE| 341 [65.82 | 67.25 =
104222510905078 || %e 105102 |JLF# FEEmE| 343 [62.85 | 66.30 =
104222510104157 | A& 105102 [JLFH# 350 |57.34 | 64.93 %
104222510905944  |H 105104 |# &5 F FEEmE| 366 [89.47 | 79.71 =
104222510905451 | X84 A 105104 |# &% ¥ FEEmE| 372 [82.90 | 77.80 =
104222510905014 |44 105104 |# & 5" F FEEE| 356 |84.01 | 76.32 =
104222510104163 |2 B H P 100204 |#Z5H ¥ FEEm| 341 [86.71 | 75.61 =
104222510905455 |2 BH BH 105106 | K ka5 17 % FEEm| 338 [96.81 | 79.28 =
104222510905135  |WF# | 105111 |shAHEF &4k ExEE| 383 [89.24 | 81.66 =
104222510905138 | X &, 105111 |4hAEe T 4 FExEm| 378 [86.66 | 80.03 =
104222510905095 | 5 i 105111 |4pR# T4k ExEm| 351 [88.87 | 77.67 =
104222510905488 | B ™ % 105111 |4hAEe T4k B | 354 [84.52 | 76.29 =
104222510104224 |+ & 105111  [4MAH= &4k FEEE| 346 |[86.64 | 76.17 =
104222510905212  |[x] &= 100210 |4MFH% &4k FEEmE| 378 [75.94 | 75.74 =
104222510104196 |4 & 100210 |4hAHe T4k FExEE| 384 [71.81 | 74.80 =
104222510905628 | ) F 4 100210 |4hA# &4k EFE| 369 [74.06 | 73.90 =
104222510104189 & 7R 100210 |4 EH2 &4 FExEE| 361 [74.42 | 73.09 =
104222510104228 | E Uk 105111 [4MFr &4k 368 | 64.64 | 70.02 &
104222510905098  |# &% | 105111 |shF& T 4 375 | 62.54 | 70.01 %
104222510905295 | & Fk A 105111 |4hF &4k 360 |62.48 | 68.19 &
104222510104238 [ = # 105111 |4hAEs T 4 356 |63.54 | 68.14 7
104222510905198 | 4782 105111 |4hR# T4k 353 |62.32 | 67.29 &

%2, 4w




Y A | URE | vk |wanzsore| FTRETR) AR AR RS
104222510905201  |4F 3% % 105111 [4MFr &4k 344 |64.36 | 67.02 &
104222510905352  [&) 3% | 105111 |shAE= T 4 336 |63.42 | 65.69 %
104222510905847 |4 105111  [4MAH% &4k 329 |59.55 | 63.30 &
104222510905789  |® T2 105111 |4MA# J 4 EmmE| 387 [77.42 | 77.41 =
104222510905885 |E48 % | 105111 |4 Fé s FExEE| 376 [79.76 | 77.02 =
104222510905213 | P& 4 8¢ 105111 |4hA# Fa 4 ExEE| 376 [76.40 | 75.68 =
104222510905216  |FF 4T 105111 |4 J& 4N FEEmE| 361 [74.66 | 73.18 =
104222510104247 | T — 100210 |4 A Fa 4 ExEm| 358 [75.50 | 73.16 &=
104222510104235 |4 105111 |4hAbe J& 4N 362 |69.34 | 71.18 7
104222510905333 | X35 ## 105111  [4MAH% Ji 4 360 |67.37 | 70.15 &
104222510104248  |x| K& 105111  [4MARHe J8 4N 346 |69.11 | 69.16 %
104222510104197 | K & 105111 [4MFr 4N 350 | 67.15 | 68.86 &
104222510905290 |47 X3 105111  [4MARHe J8 4N 348 | 67.04 | 68.58 %
104222510905107  |& XA 105111 |4hR# Fa 4 342 | 68.46 | 68.42 &
104222510905053 | #f & 105111  [4MRHe J& 4N 347 | 62.46 | 66.63 %
104222510905585 | & ¥ A+ 105111 |4hR# Fa 4 345 | 62.22 | 66.29 &
104222510905632 | x| # 105111 |4 J& 4N 331 |62.87 | 64.87 7
104222510104241 |47 & & 105111 [4MFr J 4 333 [62.19 | 64.84 &
104222510104186 | # % 105111 |4hAbe J& 4N 327 |61.39 | 63.79 7
104222510905299 | 754 105113 [FH = FEEmE| 359 [80.99 | 75.47 =
104222510905892 | x| & it 105113 |E M= FExEm| 372 [76.35 | 75.18 =
104222510905597 [ )& & | 105113 |FAH# Exm| 374 [75.65 | 75.14 =
104222510104255  |xlfE&X 105113 |B M= FEEmE| 360 [76.86 | 73.94 =
104222510905490 | E E & 105113 | E#/% 356 | 73.71 | 72.20 &
104222510905024 | & B EY 105113 |E M= 356 |68.85 | 70.26 %
104222510104260  |#A % # 105113 |F A% 343 | 67.85 | 68.30 &
104222510104253 |5k # 8¢ 105113 |B M= 322 | 73.30 | 67.96 7
104222510104254 |25 A FH 105113 | E#/ % 328 | 67.85 | 66.50 &
104222510905496 | T # A& 105113 |B M= 324 |67.95 | 66.06 7
104222510905750 |3 105116  |HR A+ FExEm| 330 [82.03 | 72.41 =
104222510104276 |2 &% & 105116  |AR = FEEm| 331 [74.86 | 69.66 =
104222510905125 |5k ¥ 105116 |ER A= 357 | 66.84 | 69.58 &
104222510905720 & = 105116 [ER A= 349 |68.56 | 69.30 %
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FEHS | #E | FURE | twak |wrsnzsan|TRF| TR AR KR RES
104222510905646 |7k 2 # 105117 | B BH R ¥ FEmmE| 349 [78.27 | 73.19 =
104222510905824 | %1% 105117 [H- SR A5 324 |77.19 | 69.76 %
104222510905611  |& B 105118 |HEEZ FEEm| 355 [80.77 | 74.91 =
104222510905510 | F i 3t 105118 | fREE % ExEE| 346 [76.63 | 72.17 &=
104222510905409 | % 4% Al 105118 |HEEZ FEEmE| 364 [70.69 | 71.96 =
104222510905408 |35 105118 [ EE= FEEmE| 364 [68.06 | 70.91 =
104222510905311  |#EE | 105118 |MEE*¥ FExEm| 337 [71.22 | 68.93 =
104222510905968 |4 & 105118 | #REEZ 357 |62.50 | 67.84 &
104222510905514 |35 4 105118 [FREEZ 335 |65.93 | 66.57 %
104222510905102  [%&F B 105118 [FREE= 341 |63.29 | 66.24 &
104222510905031  [X|Fi# | 105118 |MREE¥ 334 |62.32 | 65.01 %
104222510104288  [Z=FH 105120 | lks JR A% B2 4 T FEEE| 342 [79.20 | 72.72 =
104222510905873  [F4£4F | 105122 KA AP 0B % FExm| 375 [78.80 | 76.52 =
104222510905752 | & it F 105122 | A AT FF T8 % 349 |59.92 | 65.85 &
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